ADO#gEt R ERTIE)

SF6E2H1BIRAE

BTH% Hit 4 B&Et HEE
JIE Hh X /NG 993 1,048 2,041 935
I 0 0 0 0
JNE—TH 293 303 596 284
JNBE=TH 287 267 554 260
JIE=TH 218 230 448 205
g™ T B 183 199 382 150
HEEMA 12 49 61 36

R/ X /e 1,811 1,934 3,745 1,923
H/# 13 59 72 72
H/##—TH 344 379 723 361

H/#8=TH 505 500 1,005 514
H/#=TH 546 559 1,105 531

H/##HETH 403 437 840 445
P X /NET 208 233 441 245
H 208 233 441 245
MHBEE X /NG 4,288 4,456 8,744 4,206

#EAE5—TH 1,148 1,045 2,193 1,142
#WEAE_-TH 1,453 1,530 2,983 1,351

#EAE=TH 1,397 1,538 2,935 1,392
#EASMNTH 290 343 633 321

SHT Hh X /NET 2,623 2,410 5,033 2,719

XHET—TH 1,159 1,077 2,236 1,203
XET-TH 1,464 1,333 2,797 1,516

XET=TH 0 0 0 0
ko B R/ 3,266 3,019 6,285 3,108
&y E—TBH 642 649 1,291 660
¥ByE=TH 803 806 1,609 758
#rE=TH 391 356 747 370
HkoEMTAH 630 526 1,156 560
sy ERTH 800 682 1,482 760
ESNE = 491 470 961 454
EN—TH 108 118 226 102
EJN=-TH 383 352 735 352




ADO#gEt R ERTIE)

SF6E2H1BIRAE

BITEH% Hit =i B&Et HEE
ETREMR/NE 2,119 2,019 4138 2,207
EXRFE—TH 1,116 1,095 2,211 1,113
ETRE=-TH 975 891 1,866 1,071
EXRFE=TH 28 33 61 23
FEH X /NG 1,640 1,634 3,274 1,606
FE—TH 752 750 1,502 798
FE=-TH 272 294 566 267
PE=TH 616 590 1,206 541
Pt X /NET 1,863 1,847 3,710 1,670
Fh—TH 409 418 827 383
Fh=TH 614 598 1,212 544
FH=TH 556 551 1,107 512
PHEmTH 284 280 564 231
PhnEM X /T 2,160 2,125 4,285 1,876
FmxE—TH 673 634 1,307 627
FMEZTH 515 538 1,053 483
FME=TH 547 517 1,064 408
PmEMTH 425 436 861 358
P X /NGt 1,480 1,328 2,808 1,196
FFE—TH 701 629 1,330 584
FEZ=TH 389 334 723 313
FE=TH 390 365 755 299
WERTHE X /M ET 1,462 1,403 2,865 1,269
WERT—TH 62 48 110 53
MERT—TH 995 973 1,968 844
NER=TH 405 382 787 372
IMEE X /T 3,174 2,895 6,069 3,260
IMEE—TEH 434 410 844 494
IMEEZTH 803 615 1,418 839
IMEEZ=TH 669 631 1,300 661
IMEETTH 442 450 892 445
IMEERTH 826 789 1,615 821

=&t 27,578 26,821 54,399 26,674




